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2023
( May/June )
HISTORY
( Core )
Paper : C-3
{ History of India—11)

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
~ for the questions '

1. Answer the following questmns in 1 word or

in I sentence each : 1x8= 8

(a) Which text has shown that the Mauryan
society was divided mto - seven

_ “categories? _

(b) Which emperor styled himself as

' ‘Devanamapriya Piyadasi’? _ :

fc) Name the revenue ‘items collected in
cash. ' o

P23/919 . _ ' : { Turn Qver )



(2)

{d) Who was the leader of a merchant

caravan?y

fe) - What was Karukara? .

(i When did the Saka era begin?

g9 Name one - of 'the_ epithets of

Samudragupta.
~fh) Give a specimen of the Dravida temple
architecture.
2. Write short notes on any three of the
- {following : . 4x3=12
‘fa) Varna system
(b) Gana-Sanghas
{c) Saka ruler Rudradaman—I
(d). Allahabad Prashasti
fe) Harshavardhana
3. Discuss about the expansion of  agrarian
economy during the Mauryan period.. . 12
. .-..' . Or . L
Analyse - the development  of . trade and
commerce in North India from circa BCE 300
to circa CE 300..
4. Discuss the nature of Ashoka’s Dhamma
policy. To what extent was it influenced: by _
the political consideration? 12
P23/919 " { Continued )
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(3)

Or

“Kushanas’ significance rests not so much on
their political conquests as on their
contribution to economic and cultural
developments.” Explain.

Make an estimate of Samudragupta as a
congqueror and ruler.

Or

Describe  briefly the Pallava-Chalukya
conflicts for the political supremacy in South
India.

Prepare an essay on Purusharthas and
Samskaras of the Brahmanical tradition.

Or

Narrate about the different sects of
Buddhism,

Give an account of the Sanskrit, Pali and
Prakrit literature of your study period.

Or

Give an account of the Maui‘yan art -and
architecture. '

L

.12

12

12
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. 2023
( May/June )
HISTORY
( Core_]
'Pap.er : C4

( Social Formations and Cultural Patterns
of the Medieval World )

Full Marks : 80_
Pass Marks : 32

Time : 3 hours |

The ﬁgures in the margm indicate full marks
for the quesaons

1. {a) Answer the follomng questions in I
2 word or in-] sentence each : .- . 1x8=8

fij Who was the first’ Roman emperor?

(i) Who was the author of the Natural
History?

{ifi} Whlch Roman emperor spht the
o emplre into two parts?

(iv) What is the meaning of ‘MANOR’°

- P23/20 “ ( Turm Over )



(2)

{v) Who is the head of the Catholic
Church?: ' '

i) What is the meaning of Shariah?

{vii) Name one garrison town of Islamic
world.

fvitj Name the tribe fo which Prophet
Muhammad belonged.

(b} Write short notes on any three of the
following : " : 4%x3=12

iy First. Punic War (264—241 BC)
(i) Roman Religion '
{iii) Cicero _
fiv) Black _-Death
(v} Three-field system
2. Describe the functions of political

institutions of the Roman republican
government. 12

.. Or
Discuss the chief features of the slavery
system of Rom_a.n em_pir_c._ _
3. Give a brief note on Roman art and
architecture. : 12
Or '

Examine the factors that led to the dechne of
Roman empire. '

P23/920 | - ( Continvied )

(3)

4. Discuss briefly how agrarian production was
organized in Medieval Europe with special
reference to feudalism. 12

Or

Narrate the factors leading to the fall of
feudal order in Medieval Europe.

8. Discuss about the différent phases of the
growth of Christianity in European soc1ety '
during the Medieval period. 12

Or

Trace the progress of European architecture
and literature during Medieval period.

6. Trace the growth of Caﬁphate State in
Central Asia. Why did the Caliphate decline?
' 8+4=12
Or
Discuss the growth and development of -
Sufism in the Islamic society. What are the

- contributions. of Suﬁsm to the Islamic
civilization? . 6+6=12

* ik
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2023
( May/June )

' POLITICAL SCIENCE
( Core )
Paper .: C-3
( Political Theory : Concepts and Debates )

Full Marks_ : 80
Pass Marks': 32

Time : 3 hours

The ﬁgures in the margin indicate qu marks
Jor the questmns

1. Answer the following _questio_ns : . 1x8=8

fa) “That government is best which governs
least.” Who said this? -

(b} ‘“Liberty without equality is a high
' sounding phrase » Who said this'?- '

fc) Who wrote the book A Grammar of
“Politics? . - o

P23/923 ' { Turn Over )



4.

P23/923

(2)

f{d) Who wrote the book, The Clash of
Civilizations and the Remaking of World
Order? : '

fe) In which year was the ‘American
Declaration of Independence’ adopted?

7 In which year was the English Magna
Carta’ signed? :

{g) Point out one difference between moral
rights and legal rights.

() Write the full form of UNESCO.

Write short notes on the following : 4x4=16

{a) Freedom of belief

(b} Differential treatment for equality

{c) Justice as entitlement

(d} Conceptual analysis of multiculturalism

Define Freedom. Discuss freedom as

emancipation and development. : 3+9=12
S Or _ S

Discuss the relationship between Freedom

and Equality. ' 12

What do. you . mean by _equélity of

opportunity? Is it possible to establish social

-and economic equality in society in true

sense of the term? Substantiate your answer
with proper arguments. 3+8=11

{ Continued )}
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(3)

Or
Briefly . discuss the background of
inequalities in society. Why is affirmative
action necessary to establish equality in
society? 4+7=11

What is Substantial Justice? Discuss justice

as capabilities and freedom. 447=11
o . o
What is Distributive Justice? Discuss the

Communitarian Critique of Justice. 4+7=11

Discuss three generaﬁons of human rights. 11

Or
Define moral n'ghté. Discuss the features and

limitations of moral rights. 4+7=11

. Discuss the various challenges to State

sovereignty in the 21st century. : 11
- Or _
Make an attempt to critically discuss

' ‘the major aspects of the idea of ‘Clash of

Civilizations’ propounded by Samuel P.
Huntington. _ ' . 11

J R ok
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2023
( May/Ju‘rie )

POLITICAL SCIENCE "
{ Core )
Paper : C—4
'( Political P'ro:cesjs in India )

Full Marks : 80
Pass Marks : 32 .

Time : 3 hours

The ﬁgures in the margin indicate full marks
" for the questions

‘1. Answer the following questions : . - 1x8=8
fa) How. do you define economic
globa.lization'—"‘ '

{b) _'-.What was Jawaharlal Nehru s notwn on
secularism in India?

). Mention one major characteristic
" feature of coalition pohncs in Indla
'durmg 1989-1999. :

- P23/924 ' " { Turn Over }



{2)

(d) Which is the latest national political
party in India?

fe} Who is the present Chief Election
Commissioner of India?

{f/, What is FPTP?

{g/ Mention one  argument against
regionalism. '

{h} What is voting behaviour?

Write short notes on the following (within
150 words cach) . 4x4=16

{a} Challenges to Indian party system in
© 21st century

(b} Political mobilization and democracy in
India

{c) Debates on Tegionalism vs. nationalistm’
in India '

{d} Major issues confronting the Indian
State during the contemporary time .

Make_ an attempt to identify the major

changes in Indian party system since 1989. = 12
' . Or

Evaluate how the party system in India

worked during the first two decades of

Independent Indla : 12

| P_23-/924 | ( Continued )

{ 3 )

4. Examine the major determinants of voting
behaviour of the clectorates during the last
two Lok Sabha elections in India.

or

Examine the changing pattem of polltlcal
leadership in India. :

S. Explain the major factors responsible for
secessionist tendencies in India. Do you
think that Indian State has been able to

address them successfully? Substantiate

11

11

your answer with proper arguments, 7+4=11

Or

“Regionalism in India is a result of various
interconnected factors.” In this light, discuss
the various types of regionalism in India.

6. What do you mean by ‘secularism’? Discuss
' the principal debates on secularism in India.

11

3+8=11

Or- .

Evaluate how castc plays its role in Indlan
politics.

P23/924 o { Turn Over )

11



(4)

7. :‘f‘Globalizatioh has changed the nature of
Indian State.” Comment. il

Or

How have the neo-liberal policies impacted
the welfarist nature of Indian State? Discuss
~ with proper arguments, - _ 11

P23—10500/924 2 SEM TDC PSCH (CBCS) C 4
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2023
( May/June )

EDUCATION
( Core )
Papei' : C3
( Psychoiogical Fotindal_:ions; of Education )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions.

1. {a) Answer the following as directed : 1x4=4
- (i) Write any .one = supporter of
behaviourism. . _
(i) The principl_é,_of joytul -Iéaming is
based on the learning law of _
_ - (Fill in the blank)
(m} Who coined the cahcepi_; of
‘emotional mtell1gence’° '
{iv) Gifted children are also exceptional
children.  {Write True or False)

P23/915 { Turn Over )



(b} Choose the correct one : 1x4=4 o 2. Give short answers of the following : 2x4=8
(i) Which one of the following concepts {a} “Psychology is a positive science of
does not belong to Freud's psycho- . behaviour.” Justify.
analysis? . .
1 1d . ' (b) - Write the meaning of zero transfer of
' ' learning.
2. Ego . &
3. Sub-vocal t alking | . B {c) Write .two differences between creativity
4. Superego and giftedness.

(i) Which of the following is not a (d) Write the definition of personality
subject matter variable of learning? provided by Gordon Willard Allport. -
1. Length of content '

2. Sequence of content . 3. Write short notes on the following :  5x4=20
3. Overlearning

faj - Nature of psycholo
4. Difficulty level of content (@ . _ ._ PSyens gy: :

(i) Which of the following is an \. - o |

" operation involved in operant - Behaviourism as a school of psychology
conditioning? - _ ' fb) Marks of good memory =
1. Shaping ' - . R S

. : ’ two-fact th f
2. Reinforcement {c}_ .Speafmans o-lactor = eory 9
intelligence :

3. Extinction
4. All of the above _ or

fiv) Which of the following is not a | - Nurturing creativity in the classroom,
category of personality traits ' " {d) Concept of balanced mature petrsonality

classified by R. B. Cattell?

‘1. Common traits ' .
4. What is meant by educationa! psychology?

Discuss the importance of educational
psychology in classroom teaching. 3+8=11

2. Unique traits
3. Surface traits
4, Psychotic traits

P23/915 | ( Contiriued ) P23/915 g " { Turn Over )



{4)

5. Describe the basic laws of -1eaming provided
by Thorndike and discuss the educational
significance of these laws. - 3+9=12

Or

What is meant by attention? Suggest some
measures to draw students’ attention for
learning. : ' _ 2+10=12

‘6. Define intelligence. Discuss the factors of
heredity ' and  environment  affecting
intelligence. _ 2+4+4=10

A ' or . _.
Who are gifted children? What special
provisions should be taken for educating the
gifted children? Suggest. o 2+8=10

7. Describe the ._meanirig ~of adjustment
mechanism. Discuss about compensation
and  rationalization as  adjustment

mechanism. S 3+444=11
.. or . .
What is meant by instinct? Describe the
major characteristics of instinct. - N 3+8=11
L& & SN
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2023
( May/June )

EDUCATION
( Core )

Paper : Cc-4
( Educational Administration and Management }

Full Marks : 80
Pass Marks : 32

Time : 3 hdurs

The figures in the margin indicate ﬁzll marks
for the questions

1. Answer briefly of the following : 1x4=4

fa) “Management is a multipurpose organ
that manages a business and manages
a manager and manages worker and
work.” Who said this?

(b) Write any one nature of educational
management. _ ' '

'(c)- Write any one function of educational
leadership.

(d} What does the word ‘super’ mean?

P23/916 | { Turn Over )



2.

P23/916

{2}
Fill in the blanks : 1x4=4

fa) The full form of MBO is .

{bj leaders have an attitude of trust
and reliance on their employees.

{¢) Grass-root level planning is also known
as _

{d] The word budget has been taken from
language.

Write short notes on the following :  4x5=20

fa) Differences between centralized and
decentralized management

(b} Principles of educational leadership

f¢) Institutional planning

{d) Qualities of a good educational
supervisor

() Role of finance committee

What is meant by_educational _managemenf?
Discuss the nature and scope of educational
management. 2+4+4=10

Or

Define educational management. -Discuss
about some modern trends of educational
management. ©2+8=10

( Continued }

{3)

8. What is leadership? Discuss the factors
influencing leadership styles. 2+8=10
Or
Define leadership. Describe the democratic
leadership style in education. 2+8=10
6. What is educational planning? Discuss the
- need and scope of educational planning.
2+4+4=10
Or o '
Describe the concept and importance - of
school development plan. : 10
7. What is educational supervision? Discuss
the nature and scope of educational
supervision. 2+5+4=11
Or _
What is supervision? Differentiate between
supervision and inspection. 3+8=11
8. (@) What is educational finance? Discuss
the principles of managing educational
 finance. '  2+4=6
fb} Discuss the sources of educational
finance. S5
* Kk K
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2023
{ May/June }
ECONOMICS
( Core )
Paper : C-3
{ Introductory _Macfoeconomiés 'I]

Full Marks : 80
Pass Marks : 32 '

sze 3 hours

The ﬁgures in the margin indicate ﬁdl marks
for the questions

L Answer the following as directed : 1x8=8 -

{a) The consumption of fixed cap1tal is
known as . o
{i) depreciation -_
{ii) - capital formation
{iii} 'inves-tmeﬁt
fiv) . AIl of the above .
( Choose the- oorrect answer }

{b) What is meant by ‘1nJect10n in circular
flow of income?

{c} Whlch ‘of the followlng is’ not true of
11qu1d1ty trap? =

) Itisa condition that takes place at

a very low rate of mterest

P23/1114 { Turn Over }



(2)

(ii} An increase in the money supply
could not affect the rate of interest
fiii) It represents pedectly  elastic
demand for liquidity
fiv) People prefer bonds instead of cash
( Choose the correct answer }
{d) Speculative demand for money is said
to be
{i) interest elastic
{ii} income elastic
(iii) interest inelastic
{ivi None of the above
( Choose the correct answer )
e} What do you mean by hyperinflation?
{# On which factor Keynesian theory of
employment depends?
i) Effective demand
(i) Supply
(iii) Production efficiency
fiv) None of the above :
{ Choose the correct answer )

(g} The IS curve shows the combination of
"~ output and the real interest rate for
-which . .
{i) the goods market is in equilibrium
(i) the labour market is in equilibrium

(iij) the financial asset mai'ket is in

equilibrium
fiv) Both (i) and (ij)
( Choose the correct answer }

P23/1114 - { Continued )

(3)

{h} Fiscal policy is the policy related to
{i} publié revenue
{iif public debt
{iii) public expenditure
fiv) All of the above .
( Choose the correct answer ) |

2. Write short notes on any four of the following

(within 150 words each) : 4x4=16

{a} GNP at market price and factor cost

(b} Expenditure method of caiculating
- national income

{c) Inflation and deflation |
{d) Say’s law of market

fe) Functions of m'on‘ey
Answer the following questions (within 500 words
each) :

‘3. {a) Distinguish between micro- and macro-
economics. Discuss the scope of macro-

economics. ' . 6+6=12

Or

(b} Do you consider national income or
-GDP as an indicator of economic
welfare? Give arguments in support of
| your answer. '

P23/1114 o - { Turn Over }



4. (a)
{b)
5. (a)
()
6. {(a)
(b)
7. ()
(b)

EpraJn Keynesian theolry . of

(4)

Explain’ the value added method of _
computing GDP, Mention its advantages

and disadvantages. 6+5=11
' ' . Or o

Explain the circular flow of income in

four-sector economy. _ 11

Discués the Fisl:ler’s_ quantity theory of

. money. Mention its limitations. - 8+3=11

o Or _
What ‘is meant by credit creation?
Explain the process of credit creation by
commercial bank. I L 2+9=11

What is inflation? Explain  dia-
grammatically the demand pull inflation

and cost push inflation, - 1+5+5=11

.. Or o
What is trade cycle? Explain the various

stages of trade cycle.: = - 1+10=11.

employment. 11

Diagrammatically show thie derivation of

IS and. LM curves. Explain the general
equilibrium . with the help of IS-LM

curve: . . 8+3=11

Ckkk
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2023
( May/June )
ECONOMICS
{ Core } -
Paper : C4 | .
( Mathematical Methods in- Economics—II )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct answer/Ahswer the
following : T ' ' 1x8=8

fa) The time path of price is convergent
when . C : '

(i} sloi)e- of supply curve is steeper.
than the demand curve

{ii) slope of demand curve is greater
than the slope of supply curve

(it} slope of demand curve is equal to .
slope of supply curve

(iv) None of the above |
P23/1115 - ( Turn Over )



(b)

(c}

(d)

P23/1115.

(2

Select the correct statement.

i) The value of a 'd'étgrminant changes
if the rows and columns are
interchanged.

i} If two rows of a determinant
are identical, the value of the
determinant will be non-zero.

(i) If any two rows are interchanged,

the sign of the determinant will

alter, but numerical value will
remain same.

fiv} All of the above

If |A}#0, then A is

i) zero matrix |

i) singular matrix

{tii} non-singular matrix

(i) diagonal matrix |

If the total cost fur_lc_tion is
C=20% —1502 +300+16 -

then the AVC will be

f) 6Q%-300+30

fii) 202 -150+30+18

fiii) 202 -150 +30

(iv) 16 '

{ Contﬁiued J

(3)

{e) The profit maximization in multi-

(g

m

P23/1115

product firm, producing two products,
requires that

) 1H,1>0and | Hy |<0

(i) |Hy |>0 and |Hy|>0
(v) |Hy |<0 and [Hy |>0

Define _ _homogeneous production
function.

The cross elast101ty of demand in case of

complementary goods is

{i) positive

fiil negative

fiif) independent

fiv) zéro :

The least cost combmaﬂon of mputs
requires

fij slope of indifference curve = slope of
budget line ' '

fii) slope of lsoquant = slope of isocost
curve :

{ifi) the isoquant is convex to the origin

(i) Both (i) and fii)

{ Turn Over |




‘2. Answer any four of the following :

(a)
(b}

(¢}

(d)

(e)

3. (@

P23/1115

(4)

Write a note on economic application of
first-order difference equation.

Explain briefly the inverse of a matrix
and its properties.
Prove that for any scalar A,

A(A+B)=2A+AB

What is meant by Constant Elasticity of
Substitution (CES} production function?
Prove that CES production function is a
linear homogeneous function.

The marginal revenue and marginal cost
functions of a firm are given as

1
MR = 25—
2Q

Mc=<y202—%o+2

and total fixed cost is. 10. Find ou’t total
profit when the firm produces and sells
10 units of output.

ﬁ). Solve . the diﬁereﬁce__
Y, - Yt =10 and Y, =5.
{u) In a Cobweb model
Qa =a-bR, (a b>0)
Qst =—c+dF,_, [ d>0)
th Qst

Obtam the time path F, and analyze
the condition for its convergence.

_equatioh

4x4=16

7.
{ Continued }

(b) @

(i

(5)

Or

Given, slope of demand curve
|a|=3 and slope of supply curve
|B|=4. Determine whether
equilibrium is stable, 1
Given the demand and supply
function as
' 3X4 =20-F
3Xg =-20+7F 4

~ Find the equilibrium price, the time

i)

i}

(i)

P23/1115

path and determine, whether or not
the equilibrium is stable. 7

Solve the . following difference
equation by iterative method : 3

Y;;1-Y; =5 and Y, =10
Define rank of a matrix. | 1
Evaluate - - the following .
determinant : _ _ 3
11 3
2 2 1.
1 0 -2
Solve the following national income
model using Crammcr’_s rule : 6
Y=C+lg+Gy -

C= 0c+B(Y T >0 0<B<1)
T=vy+8Y (y>0;0<8<1)

" { Turn Over )



b}

5. {a}

{b)
P23/1115

fii)

()

(i)

W

( 6)
- Or
Find the inverse of the following
matrix A @ : 4
2 0 -5
A=l 4 1 2
-3 0 1
Solve the following system of
simultaneous equations by matrix
inversion : _ 6

ax, +2x5 ~ x5 =40
_. 2x1 +3x2= 43
. xl +3x3 =38

'Distinguish between Cobb-Douglas
. production

function and CES
production function. State and
prove the properties . of Cobb-
Douglas production function. 2+10=12
Mention two important reasons

as to why CES production function
is superior to Cobb-Douglas

production function. 2
' Or .
Given z2=8%"% Find 2 and
- x® +3y ox
dy : o 4
{ Continued )}

P S

(7))

i} If the total cost of a function is
given by TC = .100-2g+0-5¢2,
show that the slope of average cost

curve is negative when output is
less than 10. 6

{ifi} A consumer has a ufility function
u=u(Q)=ocQE', a>0;0<f<«1
Does the utility function .display
diminishing marginal utility? 4

6. (@) A monopolist produces two products

(b)

.of output.
P23/1115

@, and Q, jointly. His cost function is -
1
TC = Q2 +ZQ§ +20Q, @, +10
AR, =32-3Q,
AR, =16-4Q,

Find -profit maximizing oﬁtput and
maximum profit. 7+3=10

Or

A monopolist has the following total
revenue (R) and total cost (C) functions :

R =30g-g*
C=q° -15g% +10g +100

- Find i) profit maximizing output,

i) maximum profit and (i) point
elasticity of demand at equilibrium level
4+3+3=10

{ Turn Over )}



(8)

7. {a) (l) Using Lagrange multiplication
- method, find the extrerne value of
_the function

Y = x? + x5 +£23—x§
subject to x; +2x, =14. ' 5

fi) A consumer has a utility function
~u=xy, where x and y are the
goods purchased and his budget
- constraint is given by B = xP, + yP,.
Find out demand functions for x
and y. . _ 6

Or .

{b) Cost and production function of a
firm that wants to produce 64 units
at minimum cost are respectively
C=2L+4K and Q=8LY*K"? Find the
quantity of K and L. =~ 11

L& & ¢
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UNIT—I

1. (a). R. K. Narayan’s writing is essentially
' characterized by humour and gentle
irony. Discuss Narayan’s The English
Teacher in the light of the . given
statement. o : ' 15
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(3)
(2)

_ (b} () Discuss how Mitra Pﬁukan’s The
Or : Collector’s Wife probes into the
feminine experiences in terms of

(b} The mundane and the spiritual confront gender, identity, language, ethnicity

and finally fuse into each other in R. K.

‘ and dispossession. 15
Narayan’s The English Teacher. Attempt : _
a critical reflection on the statement. or
2. {a) Give a brief sketch of the headmaster’s o (i) Attempt a critical study of Mitra
character from The English Teacher. 5 Phukan’s treatment of the theme of
. Or : violence in The Collector’s Wife.

() How would you interpret Krishnan’s
abhorrence of Western education in '
The English Teacher ? 4. Answer either {a) or (b} :

@) . (i} Attempt a brief sketch of Nur

UNT—II o Shahjahanabadi’s character from
. ’ ' In Custody. 5 -
3. Answer either {a} or (b} : . _ _ :
{@) (i) Critically examine how Anita or |
Desai’s In Cusfody dramatizes the o _ - (i} Write a short note on the use of
" language politics in India and the _ S symbolism in  Anita Desai’s
disappearance of Urdu from public D In Custody. '
© spaces.. 15 : |
or o : b} (i) Show how Mitra Phukan unravels
(i) Make an. assessment of the - the _.deep-s-e__ated p_atriarcpaj bias
portrayal of the major women existing . in  the society in .
characters in  Anita.  Desai’s - The Collector’s Wife. 5
In Custody. ' ' N . - |
P23/1116 : . ( Turn Over )
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(4 | - | (5)

Or : ' (b} () To the slave in H. L. V. Derozio’s
Freedom to the Slave, freedom is
only a wishful dream; he lacks the
agency to change his condition
himself and must wait for a saviour.
Critically examine the passivity and
subservience in his attitude. - 15

i Comment on the symbolic
. significance of the  District
Collector’s British-era  hilltop
bungalow overlocking the

- cremation ground in  Mitra
Phukan’s The Collector’s Wife. o

,

fiil What picture of the 19th century
‘ _ o Indian  society emerges from
UNiT—III your reading of H. L. V. Derozio’s
The Orphan Girl? Justify your
5. Answer either (a} or (b) : _ ' : answer.

(a} () “Don’t write in English, they said,
English is not your mother tongue.”

_ 6. Explain with reference to the context
With reference to Kamala Das’

{any one} : ' 5
An Introduction, . reflect on the : _
predicament of Indian English : {a} “My love, how can I explain
writer. 15 that I abominate laws '
g : which punish a man for his past
or ' only the night seems to understand

: that we must bear it again.”
(i} Nissim Ezekiel's The Night of the :

Scorpion offers several perspectives ' (b} “When, finally, we reached the place,
to the Indian way of life. Make a ) We hardly knew why we were there.
critical assessment of the poem in : The trip had darkened every face,

the light of the given statement. - Our deeds were neither great nor rare.

Home is where we have to earn our grace.”

P23/1116 | ( Continued ) - P23/1116 . -+ {Turn Over )



(6)

{c} . “How often I think of going

There, to peer through blind eyes of
windows or

Just listen to the frozen air,
Or in wild despair, pick an armful of
Darkness to bring it here to lie
Behind my bedroom door like a brooding
Dog...” '

UNIT—IV
7. Answer either {a} or (b) :

fa) (i) The institution of marriage means
different things to men and
women—for a man marriage is a
means to acquire control over the
woman’s body whereas for a
woman, it is the beginning of life
with a new person whom she wants
to be friends with. Discuss Shashi
Deshpande’s short story, ‘The
Intrusion’ in the light of the given
statement. 15

Or

{ii) Critically - examine . how  the
institution - of  marriage is

deconstructed in Shashi
Deshpande’s short™ story,. ‘The
Intrusion’. o

P23/1116 - { Continued )

() )

(@)

{(7)

Critically = comment on ~ the
significance of the title of the short
story, The Wilted Flower’ by Arup
Kumar Dutta.

.Or

Do you agree with the view that
Arup Kumar Dutta’s short story,
‘The Wilted Flower’ gives a realistic
portrayal of the travails of the
common people of India? Give a
reasoned answer.

8. Answer any one of the following :

(a) Write a short note on the use of the
mock heroic style in Mulk Raj Anand’s
‘The Two Lady Rams’.

(b} Write briefly on the significance of the |

radio in the short story titled ‘The Free
Radio’ by Salman Rushdie.

pP23—3800/1116
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UNIT—I-
1. Answer any one of the following : 15
fa} Discuss The Nun’s Priest's Tale as a. |
E beast fable from your reading of -the
prescribed text. ; _
{b) Bring out the salient features of the
' Spenserian sonnet from your reading of .

~ sonnet LVII and LXXV by Edmund =
Spenser.. .

fc) Write ‘a note on the themes of love
fnendshlp, hope and dlsappomtment as’
found interwoven in sonnet 30 and 116 '
by William Shakespeare.

P23/1117 - - (Tumn Oﬂf-’.?fa-?)i'j ’



2.

P23/1117

(2)

{d) Discuss the salient features  of
metaphysical poetry with special
reference to the poems hy John Donne
prescribed for you.

Write a short answer on any. one of the
fo]lomng

{a) Write a short note on the. persuasive
arguments of the fox, Russel to’ make
Chaunticleer his easy target.

() Write a note on the power of poetry
that can immortalize its subject, from
your reading of Spenser’s sonnet LXXV
(*One day I wrote her name....”).

{c¢) Write a short note on the ‘stanzaic
pattern’, Thyme scheme’ and <olta’
used in sonnet 116 by William
Shakespeare. '

(d) Write a short note on any one
_ metaphysical conceit used by Donne in
either The Sunne Rising or Death be Not

UNIT—II .

3. Answer.any one of the following :
) fa) Discuss Doctor Faustus as a true

- reflection of the Renaissance spirit.
{b) Discuss Doctor Faustus as a morality
play.

15

{ Continued }.

(3)

{c) What are the Seven Deadly sins?
Discuss the role they play in Doctor
Faustus.

{d) Critically analyze the character of
Mephistopheles.
Write a short answer on any one of the

following :

{a) Write brieﬂy the causes behind. the
downfall of Doctor Faustus.

{b) What is the tragic flaw of Doctor

Faustus? Explain briefly.

{c) Explain how power is abused in Doctor
Faustus from your reading of the play.

UNIT—III
Answer any one of the following :
{d) Make a critical analysis of the character

of Lady Macbeth. o
(b) Discuss the role played by the.
‘supernatural forces in Macbeth. .
{c¢) Discuss whether Macbeth is truly a
- tragic figure.

6. Wr1te a short answer on any one of the

P23/1117

: followmg

{a) “There’s no art to find the mind’s
construction in the face.” Explain this
observation of King Duncan and its
ironical implications.

{ Turn OGver )
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(4)

(b} Write a short note on Banquo.

fc) Write briefly how the Birnam Wood
moved.

U_NIT—IV
7. Answer any one of the following : 15

{a) Compare and contrast the way romantic
love and friendly love affect Orsino.

b} Discuss the role of mistaken id.entity in
Twelfth Night.

{c} Discuss the role of the exp]iciﬂy comic
characters—Sir Toby, Sir Andrew, Feste
and Maria in the Twelfth Night.

8. Write a short answer on any one of the
following : : : - 5

({a) Write a short note on the theme of .
' ~ ‘disguise’ in Twelfth Night.

{b) Attempt a brief analysis on the
' - relationship between Antonio with
Sebastian.. - ' '

(). Comment on Olivia’s melancholy at the
beginning of the play, Twelfth Night

o

P23'_'_—'3800/1117'__- 2 SEM TDC ENGH (CBCS) C 4



